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1.1 Chapter 2

Errors:
P. 23 Wyle should be Weil

1.2 Chapter 3

Errors:
P. 51 Equation (3.7) should be

on, = —27rr65Nec2/w2
= 72771"65Ne/k2

P. 63 The following definitions should have been included:

Rsn (AL) = ffooo Rsy (n,AC)dn  units ~ [
D5z (A¢) = 2(Rs7 (0) — Rosn (AC))  units ~
Ds5(A¢) = k*Dsm (AC) units ~ 1/1

P. 66 Equation (3.64) should be
Ol92(2,¢1,C0;€1,€2) ot

ox 2k
—%2 [Ds7(C1 — &2) + Dsu(Co — €1) + Dsn(Cy — €2)+
Ds7(¢1 — &1) — Dsu(Cy — €2) — Don(€y — &2)| Pao(w, )
P. 66 Equation (3.69) should be

[v21 + vgz o V§1 o Vgl] Fgg(l’, o )

Ol (2, ap, 1, 2) i
oz ok

[Vao Vo= Vg, - vaz] F22($7 o ')+
2
= |
Dsn(oz + a/2) — Dsp(o + a2) — Dsp(on — a2)] Taa(z, - - ).

Dsz(ay + @/2) + Dsz(a1 — a/2) + Dsm(an — af/2)+

P.67 Equation (3.70) should be

or ;
w _ %vm Vo, oo (1, 001, cvg) —
k2

3 [2Déﬁ(al) + 2Dz OLQ)*

Dsr(ag + az) — Dsn(o — ag)| Toa(x, aq, ag)



P. 67 Equation (3.71) should be

Toa(w,00,00) = exp {—2k? [Dsn(enr) + Don(cxz)
—Dsm(on + a2)/2 — Dsp(a1 — o) /2}].

P. 68 Equation (3.79) should be

F22 (07 aq, (12) = exp {—kQZp [Dgﬁ(al) + Dgﬁ(az)
—Dsm(an + a2)/2 — Dsn(ar — a)/2]}

1.3 Chapter 4

Errors:

P. 103 Equation (4.3) should be

k = kJcosf,sin0 cos ¢,sinfsin @]
= [kg(k)’ kT] )
P. 103 Equation (4.3) should be

ak‘T = kT/kT

= [cos¢,sind].

P. 1034 ' in Equation (4.5) should be k

P. 109 Second sentence in last paragraph of Section 4.2.2 should read
There is a v/10 : 1 SI enhancement ...

P. 111 Equation (4.44) should be

Dso(f(Ap+viAt)) = k*9 (0n°) [, sec 3¢ (1 — R(f(Ap+ViAt)))
P. 112 Equation (4.52) should be

o(f) = /ka (viAt) exp {—2mi fAL} dAt
P. 112 Equation (4.54) should be

T = vgflflﬂ sec 0C), 2V\+/17?F ()
(2m) F'(v+1/2)

P. 122 Equation (4.73) should be
(6n?) = 12X (ON2) / (47?)
P. 122 Equation (4.75) should be

W20 P T (v +1/2) 4,

Cs =12\ T —1) q; <(5N62>



1.4 Chapter 5

Errors:

P.169 Equation (5.58) should be

@ (t)==2mr () /JN—r. \TEC + ¢ t; A, )

scint (

P. 170 Equation (5.59) should be

Ap(t) = ¢yur(t)— (Avar/IvaF) dunr (1)
= —TAVHF (1 - (>\UHF/>\VHF)2> TEC — A¢ping



